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Qlis compulsory and answer any four lrom the rest:

Ql. Answer any four of the following: (2.5%4 = ()

(a}) Whatis oscillating neutral?

(b) Draw the Connection diagran of )6,
‘(¢) How Group 3 and Group 4 be connected in paralle|?

(d)  What is the uge of tertiary winding?

(e} Draw cannection diagram of | roulle-Stay o wingetion,

() What are differen types of surge protections for transformers?

Q2 (a). Why veet group determination iy iecessary for Transformerg? ' 3
(b). A 150K W, 400V, 3-phase induction molor with power facior of 0.85 has an efficiency of 0,95 when full-load is
supplied from a 6600/400y 3-phase transforiner, Find currents in the H.V.and L.V phases of the transformer during
full load connected as (a) delta-star; (b) star-star; (c) star-del(a; (d) delta-dely, i2

Q3 (a). Draw the phasor diagram for balancedload of Scott connected transformer. ' 3

(b). A Scott-connected transformer is fed from 4 6600V 3-phase network and supplies two phase power at 600V per
phase. Calculate the line currents on the 3-pliase system if the Toads on the two-phase sides are 450A at 0.9p.1. lag

(teuser) und 600A at 0.85p.r. lagging. i2
Q4 (a). Why auto transformers are extensively used i power system? 3

(b). An 11000/1200v transformer, wilh impedance 0.06p.u, is rated at 150KVA as a two-winding transformer, To form
an auto-transformer, the 1wo windings are connecied in series. Calculale its voltage and KvA ratings, and short

Q5 (a). Draw the connection and phasor dingram ol open delta connectjon, ’ 3

(b). In order 10 convert three-phase 1o single-phase, open delta connection js cuployed. The line voltage of the tiree
phase side is equal to the single-phuse fou voltage. What are the line currents on the three phase side, if the load

current s 20y ) ‘ 12
Q6 (a). Draw the connection diagram of Diametra] connection, 03

(b). One phase of a three-phase transformer bank supplies a lightning load of 400A. Find the current distribution in the
phases and in the lines when the transformers gre connected (a) delta-delta; (b} delia-star; (¢) star-delta; Assume Y
phase-to-phase turns ratjo of unity, 12

Q7. What are the different diclectric 1oy applicd 1o 4 transformer? Describe in detail the lightning impulse test done on
transformer, 3+]2

Q8. Write short notes on the following: {Any three) (3x5=15)
(@) Failures in transformer
(b) Short Circuit Testona Transformer




(¢} Switching Impulse Test for Transformer
{d) Switching in Transients for Transformer
{e) Three phase to Six phase conversion



